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Matemáticas 2º de ESO 

Tema 10. Cuerpos geométricos      Resumen 
  
Prisma 

   
 Volumen: hlV ·2

=  
 Área total: 2·2··4 lhlA +=  
  

• En general: 
 Volumen = área de la base × altura 
 Área total = Suma de las áreas de sus 
           caras. 
 
 

 
Pirámide 
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• En general: 

 Volumen = 
3

1
·(área de la base × altura) 

 Área total = Suma de las áreas de sus 
            caras. 
 

Cilindro 
 
  
  
 
 Volumen: hrV ·· 2

π=  
 Área total: 2····2 rhrA π+π=  
  
 
 
 
 

Cono 
 
 

Volumen: hrV ···
3

1 2
π=  

Área total: 2··· rhrA π+π=  


